
















Method 1: Let the packet contain a certain amount, e.g. 100g
Increase by ¼: 100 ÷ 4 = 25    100 + 25 = 125g
Decrease by ¼: 125g ÷ 4 = 31.25g   125 - 31.25g = 93.75g

Overall it is smaller than the original. This is because when 
the new size is reduced by ¼, since it is a larger quantity, the 
decrease will be larger than the increase.

Method 2 (multipliers):

Increase by ¼:  y x 1.25 = 1.25y
Decrease by ¼: 1.25y x 0.75 = 0.9375y

Therefore an increase of ¼ then followed by a decrease of a ¼
will result in a 6.25% decrease 




